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Correct answers of the exam 

Question 1 (6 pts.): (0.25 pt. for every correct answer) 

Paragraph Subject Verb Object 

1 the storm destroyed the house 

2 the wolf bit the bear 

3 the bear bit the wolf 

4 the wolf  walked / (0.25) 

5 the fire  burned the forests 

6 the cheetah  ran / (0.25) 

7 the lecturer  ran over the main ideas 

8 the exam is / (0.25) 

Question 2 (5 pts.):  

1. Correct answer: Complement to 'invited'. (1.25 pt.) 

2. Correct answers: 

a) One. (1.25 pt.) 

b) Sociologists. (1.25 pt.) 

3. Correct answer: Yes. (1.25 pt.) 

Question 3 (9 pts.):  

1. False (1 pt.). A subject complement completes the meaning of the subject rather than the verb (0.5 pt.).  

2. True. (1.5 pts.) 

3. False (1 pt.). If a verb is transitive, it means that the action passes from the subject across to the object 

(0.5 pt.). 

4. True. (1.5 pts.) 

5. False (1 pt.). Every sentence must have a link to the next sentence of the same paragraph (0.5 pt.). 

6. True. (1.5 pts.) 

 

 


